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INSTRUCTIONS TO CANDIDATES

(Use only Muedlack ball-point pen in the space above and of both sides of the Answer Sheet)

1. Within 10 minutes of the igsue of the Question Bookiet, check the Question Bookiet to ensure that it
contains ail the pages in comrect sequence and that no pa qt(\lnsﬁnn is missing. In case of favlty
n

ion Booklet bring it to the notice of the Superinten igilators immediately to obtain 2
fresh Question Booklet.
2, Do not bring any loose paper, written or blank, ingide the Examination Hall excep! ihe Admit Card
withous lts envelope. '

. As Answer Sheet is given, It showuld not be folded or mutilated. A second Answer Sheet

shall not be provided. Only the Answer Sheet will be evaluated

4. Write your Roll Number and Serial Number of the Answer Sheet by pen in the space provided
above.

8, On the front page of the Answer Sheet, write by pen your Roll Number in ihe space provided at
the top and by darkening the circles at the bofiom. Alsa, wherever applicable, write the Question
Booklet Number and the Sel Number in appropriate places.

& No overwriting is allowed in the entries of Roll No., Question Booklet Ro. and Set no. (if any)

on OMR sheet and Roll No. and OMR sheet no. on the Questlon Booklet.

8. Each question in this Booklet is Sollowed by Jour alternative answers. For each question, you
are fo record the correct option on the Answer Sheet by darkening the apprepriate circle in the
corresponding row of the Answer Sheet, by pen as mentioned in the ghldelines given on the

first page of the Answer Sheet.

9. For each question, darken only one circle on the Answer Sheet. If you darken more than one circle

or darken a circle partially, the answer will be treated as incorrect.

10. Note that the answer ohce ied in ink cannot ke changed. If you do nof wish to attempt a

question, leave all the circles in the corresponding row blank (such question will be
zero marks).

11, wm work, use the inner back page of the title cover and the blank page at the end of this

let

12. Deposit only OMR Answer Sheet at the end of the Test.
13. You are not permitted to leave the Examination Hall until the end of the Test.
14. ifa candidate attempis to uSC any form of unfair means, he/she shall be Jiable 1o such punishment as

*

the University may determine and jmpose on him/her.
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15U/ 114/7(1)
No. of Quutlnng : 150
gyl W §TAT : 180

: Full Marks : 450
Time : 2'5 Hours

: 450
mﬁ%wz? quiiy

i . Each question carries &

: t ag many questions as you can .

Note:(1) é;’m marks. One mark will be deducted for each ;ttu:; e
anr gero mark will be awarded for each un

question.

aAferme® a@% sed 3 (@)
mﬁzﬁtzﬁmﬁaﬁrmﬁu
ﬂﬂ%iﬂ@ﬁﬂﬂﬂ?#ﬁqwdﬁmﬂﬁ'ﬂf

m@ﬁaﬂﬁnﬁﬂngﬂrmu

3 roximate to
(2) 1f more than one alternative answers smrr; to be app
the correct answer, choose the closest one.

uﬁqmﬁﬁaﬁmmmw%ﬁﬁmﬁ,ﬂﬁmﬂ

* L] * &
Th i tions : Physics, Chemus
i r comprises of three se:c ysi try
“ Mal;g?n?:tics. Each section contains 50 questions.

mnmmww%:mm,wmﬁ@
ﬂﬁmtqﬁiﬁmﬂmmﬂtl

' P.T.O.
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01.

03.

SECTION -]
quE -]

PHYSICS

(Marks - 180)
;.Vnhich one| of the following is not the unit of energy ?
) E’:ltc:nc (2) Joule

(4) Electron-Volt

ﬁwﬁ%ﬁa—%ﬁ%ﬁﬁiﬂk?
(1) 38 (@ =
3) aAw 4) TrREE-Fve

m.a
=5 I~ B 2

(1] pressure gradient

(2) concentration gradient of particles
(3] temperature gradient

(4] velocity gradient of particles

4
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- ]
(1) mﬁm—m(m}% (2) Mﬁm%mwg
3) arq & SaR-a%™ & (4) Foif & 1 & SA-HEE

with which law of thermodynamics the concept of temperature 15
related ¢

(1} second law (2} third law

(3} firstlaw (4) zeroth law
mﬂaﬁtwmﬁiﬁéﬁmﬁmﬂﬁmm%?
() FT& P (2) vt FrEE

(3) st TS (4) g e

ters in &
i 6000A° moving in vaccum ¢€n |
of light of wavelength ‘ s 0 &
| ;::fum of refractor index 1.5. The wavelenght of this ray of ligh
that medium will be

2) 9000A®
(1} 6000A° (2) u
(4) 3000A

(3] 4000A°

; ine o r {loating
. he cause of beautiful colours in & Very thin kerosine oil laye
' on water surface illuminated by sum light 18 :

(1) interference of light (2) diffraction of hgl:;
{3) refraction of light (4) dispersion of lig

| plTi »
S .
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(1) W = =iy {2) TFIRT I fedw
(3) ST 1 arqads (4) =BT 5 Preesy
Which of the following effect is not found in sound waves ?
i ;
(1) reflection {2) intereference
(3) diffraction {4) polarizatjo
n

hqﬁﬁﬂa—ﬂﬂ%@hﬂﬂﬁﬂﬁm?
(1) S (2) =fyemoy
(3) Baedw

(4)  yETo

If the earth sto :
PS rotating about its axis th
acceleration due to gravity will : €n at the poles the valye of

(1) increase {2) decre
ase
(3) remain unchanged {(4) become ze
ro

If a magne_tic m
aterial moves from
; stronger to wea
nonuniform magnetic field then jt is known ag : ker part of g

‘l
3 r ||' ' Il Ii
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mmmmﬁwwaﬂﬁmﬁwum
gthamgumawﬁmqmm%ﬁnmh

(1) WA (2) SHTFeE
(3) AW | (4) TS ANTRS

it workes
10. If we connect all the inputs of & NAND gate together then i

as
(1) AND gate (2) OR gate
(3) NOT gate (4) NOR gate

i e that
5 x 10'%/cm?® then the concentration of holes will be (assum |
all donar impuritics are ionized).
3
(1) 3.5= 105 /em?® (2) 2.8 % 10%/cm

25 x 10''fcm?
(3) 2.25 » 101/cm® 4 1

P.7T.0.
7
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S x 10%/Hofio’ & Ry
o T g » QU mﬁmﬂqﬁzﬁ(liales)ﬂﬁ

(1) 3.5 x 10"/ orfto? (2} 2.8 x 101/Qod s
3 X | .
(3] 2.25 x 101%/forfio (4} 1.25 x 10" /@ ofes

uctlw ]

(1) increases

(2) decreases

(3] remains unchanged

4 L] b ] * .

(4) initially increases and then after some temperature bégi to
n

13. In p-n i ' ]
P-n junction diode the reverse saturation current increases with
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ﬁﬁﬁp—nﬂ'ﬁrmﬂaﬁmaﬂﬁﬂawﬂmwmmwﬁm
oz o & e

(nmmmﬂaﬁmwmh
(ZIWWMﬂWWWﬁI
13)w§dma1ﬁﬂmﬂaﬁawmwm3|
(4]Waﬁmawﬁaﬁmﬁnwm%t

Three particles of masses 4kg, 6kg and 8kg are located respectively at
position (0,0), (5,4) and (0.75, 1.5) meters find the position of the

center of mass in meters at which it is located ?

% 4 fEm 6 Fpmr o 8 Rear &= & B0 A (0,0), (5,4) T
{0.75,1.5}ﬁoﬂﬁﬂﬂ?ﬁaﬂmﬁﬁswmmmm$a
Hio i wet X R B 7

(1) (0.5, 1.0) 2) (1.5, 2.0)
(3) (2, 2) ' 4) (1.0, 1.75)
The instantaneous displacement of a simple pendulum is given by

x=Acos [wt+t 1;-]. Its speed will be maximum at tim?.

WW@M%WW-AMWH%}%MW
tammﬁmﬂmmm@m ?

L] . 4 T
[ @ B o @ 2

9 P.T.0.
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16. [l'two coherent monochromatic light beams of intensities  and 4 1 are

superimposed then the maximum and minimum possible intensities
in the resulting beam are

qﬁtamwaﬂﬁammgﬁmw“lamﬁﬂ
mmaammgﬁwawma:

(1) 251,9] (2) 51,31
(3) 9l (4 31,21

17. In a photoelectric experiment the maximum kinetic energy of the

emitted photo electrons depends on :

{1} intensity of incident light

(2) duration for which light falls on the metal surface
[3) frequency of incident light

(4) surface area of the metal on which light is incident
TP A i It Y g ) o i s
fPrefr &rfy 2 -

(1) e Tt @ i qv

(2) mgzﬁtmu"fq:ﬁmamm%@mw
(3) I gt F gy g7

(4] 91 $ T8 F G o 9T s ymar X

10
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18.

19.

20.

15U/114/7(1)

Which of the following forces is the weakest ?

(1) gravitational (2) nuclear
(3) electrostatic (4) magnetic
P 3 § -1 99 qEY 9 B ¥ 7

(1) TEEET (2) wfvE
(3) Rerc 3G 4 g

A metallic wire of lenght L area of cross section A and youngs modulus
Y is extended to lenght ! by suspending a rigid body of mass M from
one end keeping the other end fixed by a hook in the ceiling. If the
wire is further extended by pulling the body and then releasing the
body then it will execute $.H.M. with angular frequency given by :

Lm,ammwﬂmmm%mmﬂm
ﬁ@gﬁﬁﬂﬁmuﬂ%wm%qrwmmﬂﬁ%ﬁzﬁm
WWWMmeifm%IqﬁWﬁSﬁ
Wﬁwmﬁgmmﬁﬁraﬁmmmﬂﬁ

ﬁ v RrasmT G HEl 8
[YA [2vA (YL 2YL

Which of the following pairs have the same dimensions ?
(1) momentum and impulse

(2) tension and surface tension

(3) Angular momentum and torque

(4) torgue and encrgy

11 P.T.O.
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211

22,

(2} T dWr g= T
() i |3 oo T syt
(4) = gyl w Serf

A man is standing near the center of a circular plateform, rotating
about its central vertical axis, if the man walks towards the edge of
the plateform then the velocity of the plateform :

(1) does not change {(2) decreases

{3} increases (4) is halved

(1) T8 Fm (2) 9 AW
(3) &% SIRpmT (4) ooy 8 WA

[f an electron is injected into a uniform magnetic field with velocity v ina
direction making an angle of 45° with the field direction then its path would be :

(1) Helix {2) Parabola
(3) Hyperbola (4) Ellipse

12
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PR T G gra & § » AT A FREE A TERT 8 |
45°Wﬁhﬂﬂnﬁﬁﬂmmﬁmqﬁwﬁml

(1) HHRFEBR @) &Rr&

(3) e (4) Qg

. The half life of a radio isotope is 2 years the fraction of atoms decayd

in this substance after 8 years will be :

qﬂmmmmaﬁmwzaﬁ%ﬁaa&ﬁw
awﬁlaqwm-mmmaaﬁm?

9 13 is
(1) g @ 1o B ¢ @ 32

. 200 uF capacitor is connected in series with 50 k) resistance and a DC
voltage source of 500 V through a switch, How much time after closing
the switch the charge across the capacitor will be 0.063 caulamb ?

{1} 10 sec {2) S sec (3) 12 sec {4) 6 sec

200 pF =TYEN & 6 et 50 Roafto mfayy Sofien & o 500
aa%ﬁmamgamﬁmm%m@@ﬂa]m@
nﬁ%ﬁmﬁwm%ﬁfﬂﬂmo.omwﬂmaﬁmM?

(1) 10¥®o (2) 5¥®e (3) 1290 (4) 680

1 3 Pt*\ro.
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28. A thin lens of focal lenght 10 cm is immersed in water {(n=1.33), What
is its new focal length ?

(1} 10cm () 20cem (3] 30cm (4) 40cem

uﬁfﬂwﬁmﬁﬁnmmg&mﬂtﬁo%ﬂ%wtp-l.sm
am@mmamwm@mam?

(1) 103&fo {2) 208%o (3) 30aHo "(4) 408 do

26. A body of mass 2 kg placed on a long frictionless horizantal table is
pulled horizontally by a constant force F. If it is found to move 35 m
in 4th sec, then the magnitude of force F is :

(1) 20N 2) 1SN (3) 10N (4) 5N

eﬁmma-m@ﬁswwmmamﬁwww%:
wﬁzzﬁrmﬂmWFﬁmmﬂdfaﬁwwwﬁa
ﬁzmﬁ&%ﬂsﬂﬂ@a&ﬁ.tﬂaapmm%:

M) 20T (2 15 (3) 10%pw (4) 5=y

27. The threshold frequency for photoelectric emission from a material is
6.5 x 10" Hertz Photoelectrons will be emmitted when this material

is illuminated with monochromatic radiation from ?
(1) 10 watt Ruby LASER (2) 10 watt infrared lamp

(3] S watt ultraviolet lamp | (4) 10 watt sodium lamp

14
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Eﬁﬁtm%%ﬁm&mﬂﬂsﬁwﬁ%mﬁﬂﬁmm
6.5xmﬂaﬂm%3ﬂwﬁaﬁtﬁrﬁrﬁﬁﬁmﬁﬁﬁmmwﬁ

28. If the radius of the carth were to shrink by 5% its mass remaining the
same, the acceleration due to gravity on the surface of the earth would :

(1) decrease by about 5% (2) increase by about 5%
(3) increase by about 10% (4) decrease by about 10%

Ry mra@mmsyowamﬁmg&ﬁwwmﬁ
@ o gl A 9 TEETET

(1) =W 5% 9€ A (2) TN 5% TG |

(3) @A 10% T, WA (4) FITHT 10% TE AN

29. A tuning fork viberating with a 20cm long sonometer wire produces

10 beats per scc. If the length of the sonometer wire is made 2lcm
keeping tension same there is no change in the frequency of beats.
Frequency of tuning fork will be :

(1) 205 Hz (2) 210Hz (3) 420 Hz (4) 410 Hz

wwﬁazcﬁ.ﬁ.ﬂam%mﬁﬂmzﬁmfmgﬂnﬁf
Yo miamw#rw%qﬁaﬂaﬁmrézﬁ.rﬂ.maﬁaﬁ
wmﬂmm@ﬁﬁmwgﬁﬁqﬂaﬂﬁaﬁmwﬂﬂ
i omafe B =R

(1} 205 =t (2] 210 B3

(3) 4205t (4) 410 &

16 P.T.0,
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30. Satellites A and B are revolving round the earth in circular orbits of

3l

32.

radii R, and R, respectively. The ratio of th '
‘ eir orbital time peri
TA/TB will be : perese

A resistance of 20 i :
ohm and an inductance of s¢ ) Henry in an

altcmating current circuit are ¢o
i nnected to 220 ‘e
series. The power dissipated jn the circuit will be vo It A.C. mains in

(1) 1210 watt (2) 605 watt
(3) 440 watt (4) 1100 watt

%mmﬁﬁgam%qﬁw,mmzoamaﬁrmm

1
(55) #70 0 sowr et 3 92 %, 9 220 e gt e 8

ﬂmwamf&gawﬁwﬁﬁmﬁqm(m)@ﬁﬁm&:
) 1210 3w (2) 605 are (3) 440 are (4) 1100 =1

The sum of the binary numbers 1001 and 0101 is :
qEl deait 1001 qor 010] @y g @y -

(1} 1100 2} 1101 (3) 1110 (4) 1011

16
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33. Imagine that a light planet is revolving around a massive star in an
orbit of radius R with time period of revolution T. If the gravitational
force of attraction between the planet and star be directly proportional

to R-%? then :

mww@mmmmﬂaﬁ%aﬁmnﬁma&
e & aR@AOT B T { Terrc T TE ¥ 4R UE a8 TR & 9™

(1) P« R? (2) T*@ R (3) T? a R¥? (@) T? a R¥?

34. Total energy (kinetic + potential) of an artificial satellite revolving

around the earth in a circular orbit is E. Its potential energy is !

qﬂ%qﬁazqmmwﬂwmﬁwﬁqmﬁgﬁ
(nm+ﬁﬂm)mﬁﬁz°%|mﬂ%ﬁaﬁﬁwﬁ%:

(1) - E, (2] E, (3) -2E, (4) 2E,

38. A horn producing a sound of frequency 540 Hz is moving towards a
stationary observer with a speed of 33m/sec if the velocity of sound

in air is 330m/sec then the frequency heard by an observer will be :

(1) 409 Hz (2) 500 Hz (3) 400 Hz (4) 517 Hz

17 P.T.0,
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36,

37.

450 81 SRy 1 afy 3 Al o A @ Rere T 2 s a3
ﬁa/ﬂo%aﬂﬁwmhmﬂtﬁﬁzﬁrmamtﬁwﬁate?r
=M a g T omgRa and

(1) 409 wf (2] 500 st (3) 400#' (4) 517 wof

Two spherical scap bubbles come together to form one bubble. If the
change in valoume of air filled in the bublles be V, change in total

surface area be S and surface tension of soap bubbles be T then ;

YT P 0N 9D dW T & ar -
1) 3PV+4ST=0 (2} 4PV+3ST=0

(3] PV+4 8T =0 (4) 3PV+ST=0

If an air bubble of radius 102 m is rising up at a steady rate of
2 = 10 m/sgec through a liquid of density 1.5 x 103 kg/m?, then the

coefficient of viscosity of the liquid in MKS unit (neglecting the density
of air will be) :

(1) 334 units (2) 83.5 units

(3) 167 units (4} 250.5 units

18
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of e w1 geEe Pree Bear 1027 ¥, 1.5%10° Rromo /4P
aﬂaa@ﬁﬁgxlmrﬁa/ﬁa%waﬂﬁw:ﬁrmﬁa’t
m%mﬂ%mmﬂgﬁﬁa%mgﬂﬁiﬁwmm:
(1) 334 sehmedi (2) 83,5 gwEEl
(3) 167 FHEA : (4) 250.5 FEEdl
A tank is filled with water upto height H. When a hole is made in the

rank at a distance h below the Jevel of water, The horizontal range of
water get will be !

am 2% X H ﬁiaﬁmwhmmﬁﬁmﬁﬁhm
ﬂ%ﬁﬁcﬁaﬁzmﬁmmﬁﬁﬁﬁuﬁmaﬁmﬁmﬁ

e 2

(1) 2Jh({H+h) (2) 4fa(H+h)
(3) 2/h(H-h) (4) 4/h(H-h)

. A uninform chain of length ! and mass m is lying on a smooth table
such that one third of its length is hanging vertically down over the
edge of the table. If g is the acceleration due to gravity then the work
required to pull the hanging part of chain on the table will be :

wwmmm:mmmm%wmﬁﬁma
wmq@gﬁ%ﬁsWW'mmmﬁaﬁm
ﬁﬁr%ﬁﬁﬁ%wﬂ%:aﬁgﬁﬁﬂwgﬁrmﬁaﬁm
ﬁwmﬁ%mmﬁmﬁmmaﬁ?.

! | |
m 5 @ B @ @ 22

19 P.T.O.
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40. A liquid takes 5 minutes in cooling from 80°C to 50°C. If the
temperature of the atmosphere is 20°C then the time taken by the
same liquid to cool from 609C to 30°C in the same atmosphere will be :

(1) 9 minute (2) 8 minute
(3] 7 minute {4) 6 minute
Q% ZT W 80°C & 50°C T 33T ¥R 7 5 e @ ¥ | g armaer

mmzoﬂcﬁeﬁmmﬂaﬁuﬂcﬁaoocmEmﬂ%ﬁﬁiﬂm
QHY &1 :

(1) 9RF= (2) 8fme (3) 7PFe (4) 6RF=

41. A micro-ammeter has a resistance of 100 Ohms and a full scale range

of 50 uA. It can be converted into a SmA Tange ammeter by connecting
a resistance of

(1) 10kQ in series (2] 1k in series
(3] 1 ohm in parallel (4) 0.1 ohm in paralle]

TF AEReeT a gy 100 919 & aar qof @er qer 50 A B

mmmﬁummmammmmwmm
B SmAS A

(1] 10 R5.3%Y. Sofpmy 2) 1Rp.a0. Aofpy
(B) 1317 gavIaT mw & (4} 0.1 A9 g9 5 &
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Y T
2 T ST X - O O x=-a qGN x =+ a T R A
%u@mmmquwwmmhmmﬂ
Q T X 3w B AN NPT AT x << 8 } faar o B & ga
mwmﬂmmwm:
1

1
4) -7

1 x @ x @) :

' ' ' dq,(q, < 9)
:dentical metal plates are given positive charges q, an _

‘ 'Il?:;:yd :rle Tlcmr brought close together to forma parallel plate capacitor
with capacitance C the potential difference between the two plates
will be :

: < amawn R’
& D T AW A B FAC: q AW q, (9, <) T
:?hwuﬁﬂmﬂmczﬁtwﬁaamﬁamﬁ%m
mmmtﬁmwmﬁt

: + 4% -9 q, =4,
o ¥ g W@ Y @ g

_ A constant voltage is applied between the ends of a uniform metallic
wire. The heat developed in the wire will be doubled if :

{1) both the length and radius of the wire are halved
(2) both are doubled '

(3} only the radius is doubled

(4) only the length is doubled

21 P.T.0.
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46.

WY P T WA AT B R & iy o g deder s o
sﬂﬁ@mmaﬁtmmﬁmqﬁ

(1) a7 % 7§ 7 Broar 4 omht w7 &t oy
(2) A B arard 7 B § TER W D omy
(3) ¥ O W o DA T ww f oy
(4) Faw At & @ 7R F @

Two particles X and Y having equal charges after being accelerated
through the same potential defference enter & region of uniform
magnetic field and describe circular paths of radii R, and R,

respectively. The ratio of mass of X to that of Y ig

amxmvmwmmamﬁwm%wﬁam
Qﬂiwm@aﬁmmﬁwn,a&fﬁwﬁﬁ?qﬂa
vﬁwwﬁ:x%mmy%mﬂe@mt:

(1 (R/RY? (2 R/R) (3) (R,/R,)? 4) (R,/R)

A thin magnetic needle is oscillating freely suspended in a magnetic
field with-time period 4 sec. If it is divided into two equal parts and _

one part is agein suspended in the same field to oscillate freely then
what will be its time period :

(1) 2sec . {2) 8 sec (3) 1 sec (4) 4 sec

a2
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If the electron in a hydrogen atom makes a transition n, — n, where
n, and n,are the principle quantum numbers of the two states Assume
the Bohr model ta be valid. The time period of the clectron in the
‘nitia] state is 8 times that in the final state. The possible values of n,

and n, are select the correct altervative given below :

ﬁmmﬂ@ﬁﬁﬁnlanawm%ﬂﬁnll
amn,aamweﬁﬂ%g@wma‘wﬂhwhsaﬁRm
W%nmmﬁsﬂmﬂwmaﬁmma&
Wﬂswﬁln,ﬂmnﬁmmﬂﬁmﬂgﬁﬁ#&
2y | &

(1) n,=2,n,=4 (2 n,=4,n,=1

@ n=1n,=4 4} n,=4,1n,=2

During & nuclear fusion process :
(1) a heavy nucleus breaks into two fragments by itself
(2) a heavy nucleus bombarded by thermal neutron breaks up

(3) two light nuciei combine to give a heavy nucleus under high
temperature and high pressurc and possibly other products

(4) two light nuclei combine to give a heavy nucleus under high
temperature and low pressure and possibly other products.

23 P.T.O.
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‘9 L]

YET HEg ulsar ¥ -
(1) @& et frs =g @ gt & o= omn 3

.(4)ﬁmmmmmhwmwﬁm T a9
HY Wog NS w5 Prsfor a3 ¥ : = o

Which of the following is correct statement ?

(1) Prays are same as cathod rays

(2) v rays are high energy neutrons

(3] protons and neutrons haye exactly same mass
M) « particlea are singly ionized helium atoms
A TS W ¥ 7

(1} B Rt deirs fseolt & gy ¥

(2 v Rt gom Tt =gz ¥

(3) ﬁlmamwﬂ:mw@rsmmm
(4] a mmmmmcrmgh

The domi '

and overs lased 7 o s 22T TS frva
(1) drift in forward bias, Diffusion in reverse bias

(2) diffusion in forward bias, drift in reverse bjas

(3} diffusion in both forward and reverse bias

(4) drift in both forward and reverse hias

24
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o SRR o S SNARY pon W S § snde aweR A
& v faRmEr ¥ -

(1) orarvmfer # S, Seen ARmR { R

(2) SRy ¥ R, Sue SRy F ST

(3) SRy o JeEReHERT A § RrET

(4) SRR war SEpRSIvART & F ST

3 5 P‘Tlo-t
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81,

§2.

53'

SECTION - 11
qug -1

CHEMISTRY
{(Marks - 180)

Who proved that 'atomic number’ is fundamental property of an
element, not atomic weight ?

(1) Moseley (2) Mendeleev
{3} Dobereiner (4) Newland

Fret o = ]
mﬁm?mﬂﬂ'@thmdamqntalwa',ﬂﬁimﬂm

(1) = (2) Ao (3) Dt (%) 48s

Electron affinity of halogens decreases in the order :

W@Wﬁmmﬁ%ﬁwmﬂm%:
{1 F>Cl>Br>1 (2) Cl>F>Br>]
{3) F>Br>Cl>1 4) F>t>Br>Cl

Which one of the following is strongest Lewis base ?

M d M wwd sifum afm are TT | R P
{1) NF, (2) NH
K|
(3) N(SiH,), {4) NCl
: a
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150/114/7(i)

Adduct formation tendency of boran halides with NH,

B X, +: NH; - BX, NH, (X = F, Cl, Br, I) increases in the following
order :

;Tmmwmﬁﬁm%mgﬁaﬁmﬁw#ﬂmﬁm
(1) BF,<BCL,<BBr,<BI, (2 BCl;<BF,<BBr,<BI,
(3 BBr,<BCl<BF,<Bl, (4) Bl,<BBr,<BCl<BlI,

P Cl, is formed and N Cl, is not formed because

(1) Phosphorous has larger size than nitrogen.

(2) Phosphorous has d- orbitals but nitorgen does not have.
{3) Phosphorous and chlorine have compafablc size,

(4) Chlnrinc i8 more electro-negative than phosphorous.

mwmm%m%mmaﬁm
(1) wIEBRE ¥ ST (W) TEEOE § wsT ¥

(2) EEEITH ¥ d- orbitals & s f5 g F i

(3) TRERH TOr FTANT B WEHR T qIET R

(4) T N Riga wollaar sredre F ofs ¥

Bond order in O,* molecule is :

AR @Y aT F weat # wea ¥

(1} 2.5 (2) 2 (3) 1.5 (:;) 1

27 P.T.0.
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87.

88.

In analysis of mixture, sulphides of second group cations and
precipitated by adding H,S water in solution containing dilute HCl.
The presence of dilute HC).

(1) increases ionization of H,S
(2) decreases ionization of H,S
(3) increases jonization of metal salts.

(4] decreases ionization of metal salts

ﬁmmwﬁmw%mwﬁmm
mﬂaﬂwm%qﬁﬁﬁaﬁrmﬁ
wmﬁﬁﬁmﬁls@wﬁﬂﬁwaﬁmﬁuﬁr:

(1} s@mmﬁmmtl
(2) WW#WM%I

Assertion, A : In the test of sulphite, when dilute sulphuric acid is
added pungent smell gas evolved which turns yellow potassium
dichromate solution containing dilute sulphuric acid to green.

Reasoning, R : Evolving gas reduces yellow pothssium dichromate to
chromic sulphate.

(1} A and R both are correct and R is the correct explanation of A,
(2) A and R both are correct and R is not correct explanation of A,
(3) A is true but R is false.

(4) A false while R is true.

28
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mniou.(m)a:wéwmﬁagmqﬁmmm
Wﬁﬂ%hﬁﬁ%ﬁﬁﬁmm%mﬁm
IR R B R T ¥ oawew w1 R

nmm(m]n:ﬁmﬁmhmﬁﬁﬁ%m
SEEPIAT Y FiftF aede F wxer 3@ B

(1) Amnﬁ:ﬁaﬁmﬁma%maaﬁ%m%:
2) ﬁ@?Rﬁﬁ%%ﬁﬂTﬁ%ﬁﬁt{RmWﬁzl
B) AGHI B B Ryea &

4) AT 8 59 &% REH B

Which one of the following has the largest magnetic moment ?

=1 & 39 el s AR Gy AT g ?
(1) Ce(H,0)) (2) Fe(H,0);
(3) Zn(H,0)} (4) COWNH,)>

In which of the foliowing, metal has correct oxidation numebr ?

e # et ag @ smerdeer dem e B 7
(1) Cr has 6 in K,Cr,0, (2) Nihas 2in Ni (CN)!—
(3] Co has 3 in [Co (CN); H,O]* (4] Ruhas4in RuQ,

29 P.T.O,
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61. For a f- electron possible values of azimuthal and magnetic quantum

numbers are : '

o (- g & T aRmye aur AR saveH deAr Sl §h "1
g

(1) =3 m=0, 1, +2, +3

2 [=2 m=04%1, +2

@3 I=1 m=0, +1

@4 1=2 m=0,+1,+2, +3

62. Colour is observed, when a substance absorbs in the following region.

PR qared @ BT SEd Fre O # wwad B & T B #)
(1) 400 - 750 nm [2) 200 - 350 nm
(3) 800 - 1000 nm (4) 100 - 200 nm

63. Elements having electronic configurations [Ar]s® and 1s* 25 2p* will

form:

{1} Covalent campound . {2] Neutral compound

(3) lonic cnmpuur;d (4) Coordination compound
(Ar]s? T 187 297 2p* QG RFOE a@ a® M v AN -
(1) & HAoTE (2) SErEA

(3) oAt (4) HronfEReT ‘

30
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64.

66.

61'

18U/114/7(1)

Atomic number of the inert element to be discovered beyond Radon
1S :

mﬁm@ﬁaﬁmmmmmm%:
(1) 118 (2 132 (3) 114 (4) 118
Which of the following does not have allotropes ?

hﬁﬁﬂﬂmwaﬂm%?

() P (20 S 3) C 4) 1
Dryice is:

{1} Solid CO, (2) Solid SO,

(3) Solid SO, (4) Solid CO,and SO,

A mixture of barium, strantium and calcium carbonates is analyzed
by flame test. These import colour to the flame in the following

order :

(1) Apple green, crimson red, brick red
{2} Crimson red, apple green, brick red
(3) Brick red, crimson red, apple green

|4) Brick red, apple green, crimson red

31 P.T.0.
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afTw mwmﬂm%ﬁrmwuﬁmwm
q‘&ﬂu;ﬁmm%aﬁmmﬁﬁrﬁﬂﬁ:

(1) trqm &G, e e, e w
(2) PpTER W, QU &7, BT W
(3) de @i, eAEE w9, IO B
(4) g o, Qo &1, PRAEE S

On heating zinc oxide turns yellow due to :

(1) Metal excess defect due to anionic vacancies |

(2) Metal excess defect due to the presence of extra cations
(3) Metal deficiency

(4) All of these

ﬂﬁmﬁmmmxﬂmﬁmhfaﬁ%w:‘

(1) mmﬁm%wmﬁm%mm%
(2) meﬁﬁh%mmﬁ«ﬁm%mﬁ%
3) amg A =N N

(4) I B T B FT

How many ions are praduced by the complex Co (NH,}, C}, in aqueous

solution ? ?
7 @FE Co (NH), Cl, Ttra g & Rpat avad 2w B 7
(1) 6 (2) 4 (3) 3 4) 2

33
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70. Which of the following complex ion is formed when excess of aqueous
potassium cyanide solution is added to an aqueous solution of copper

sulphate ?

mmﬁmmamm%wmaﬁ
mwﬂmﬁﬁﬁmﬂmmﬂmm%?

1) cuenyi-  (2) Ce@N)y  (3) CueNyy- (4} CucN)

71. Chlorophyll is coordination compound of :

(1) Li (2} Na (3) Ca (4) Mg

73. Assertion, A : In first group of periodic table electro positive character
increases going down the group,
Reasoning, R : lonization encrgy decreases going down the group.
(1) Aistrueand R ia- false.
(2) Ais false and R is true
(3) Both A and R are true.

(4) Both A and R are false,

33 P.T.O.
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73.

74.

78.

mm(ﬁ)a:mwvﬁ%mwﬁﬁmﬁqtm
e e wE ¥

l %
mummng.(w)n:mﬂ:hﬁaﬁqtmmaﬁh
(1) ATE & T R AT
(2) AW & o REE
(3) A @ R At §H

(4) A HEH g

The oxidation state and covalency of cobalt in [Co{CN), H,O]* are :
i | 3

[Co(CN), H,01> & e o SAFRATHTOT T TEAQADAT

(1 2,9 (2) 3.6 3 2,5 (4) 3,5

Which one of the following has chlorobridged dimeric gtructure in

vapour-phase ?

mﬁﬁwwmmmﬁ?

(1} MgCl, (2) BeCl, (3) BCl, (4) LiCl

Which one of the following is not an odd molecule 7

Prey 7 B oS o) T ¥ 7

0
(1) NO (2) NO, @) Clo, 4) N,

34
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76. Which one of the following is most acidic ?

Mﬁm#ﬁﬁqﬂmﬁmm%?

{1} C,H,0H (2) C,H,OH
(3) HC « CH (4) H,C=CH,
77. Asprinis:
T HF-ar O B 7
o OH
OC - CH, @:
(1) (2) C - OCH,
COOH o
OCH, @OH
(3)
COOH & g ~ R

78. Which one of the following is monomer of PVC ?

F=tefEe F @ Aa-ar dh H T ® ?
(1) CH,=CH, (2) CH,=CH-CH,Cl
(3) CH,=CH - (I (4) CH,CH, ci

79. The correct JUPAC name of propylene is ;
(1} 1 - Propene (2) 2 - Propene
(3) Propyne . (4] Propene

35 P.T.0.
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Qo @ JUPAC 17 F41 x?
(1) 1- = (2) 2- A
(3) S &) S

80. Which of the following gives positive idoform test ?
?
ﬁmmﬂﬁqhﬂ-mmmmﬁqﬂm&mt.

(1) CH,COOH (2) CH,-CH,- CHO
o)

(4) CH,-CH,-CH,- OH
3)  cH,-&-CH,-CH, 3,

81. Which one of the following is aromatic ?

R # fa-ar QAR ¥ 7
®

0 A

S

A

(3) CH,=CH-CH=CH-CH=CH,

Cl
H
o Ol

36
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82. Correct decreasing order of acidity is shown by :

T 1 T8 oo ga o fRgH &

(1) CHl-CH,bH,O:CH;CH>CH,-CH3-
2} H,O>CH, = CH,>CH = CH > CH, - CH,
(3) CH " CH>CH, = CH, > CH, - CH, > H,0

(4} H,0>CH "CH>CH,=CH, > CH, - CH
3

83. Pick up the most stable carbocation :

qEiftes @ FEider @y g

(1) cH,-CH, 2 cH,-CH-cH,
-

@ &, 4 (cu,), &

84. Which one of the following has the shortest carbon-carbon bond ?

mmaawmmw-mmu
(1) CH,=cH, () CH = CH

(3) CH,-CH=CH, (4) CH,-CH
3

37 P.T.0.
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B87.

Pick up the species stabilised by hyperconjugation :

aﬁﬁgﬂﬂmwﬁxﬁmmﬁmmﬁgﬁq:

[ ]
= 2 H,-CH
(1) CH,-CH, (2) C.H, 2
&
C 4 C-CH
'.3] CH] -C H: ( ) (CH;)“ ]

i ° . ?
Which of the following is incorrect match for functional group

Compound Functionsl .gmup
(1) R-NH, primary amino .
() R-CH,-OH primary alcoholic
(3) R- CONH, primary aminc.;
(4) R,NH secondary amino
mﬁazﬁlﬂ-ﬂrwﬂ@%nﬁrwﬁumt?
e fearers WS
(1] R-NH, qrafis AR
(2) R-CH,-OR wraftes JenERn
(3] R- CONH, v AR
(4) R,NH s A

Which one of the following contains chiral carbon ?

Eﬂﬁmﬂmméﬂt?

(1) CH,CH,C! (2) CH,CHC, )
CH,-CH-CH
(3) CH;-—?H-CH;-CH, @ 1: 1 —CH,
CH,
<.
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88, In the given reaction :

CH,—C:CH-EgP/ .0 (X)

H,SOJJ
(X) will be :
(1) CH,COCH, () CH,CH,CHO
(3} CH,CHOHCH, (4) CH,CH,CH,0H
& T T -
CH,-C=CH Hg'/ H"‘O, (X)

H,S0./a
g (X) &er
(1) CH,COCH, (2) CH,CH,CHO
(3) CH,CHOHCH, (4) CH,CH,CH,OH

89. The product of the given reaction will be :
o 1% Afhiar & Ba-ar IgE o

CH3£H=CH;£{-—BLi Product/Iqrg

(1) CH,—?H—CH;

Br
(2) (3}'15I - CH,_, - CH,Br
{3) Br CH, ~CH= CH.E
(4) CH,—FH*CH,BI’

Br

39 P.T.0.
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90. Which of the following pairs is mot isomeric ?
P ¥ @ @AW gW wAEedE T 3?

(1) Cl-CH,-CH,-Cl CH,-CHCl,

(2) CH,-0-CHy CH, - CH,0H
(8) CH;NH,; CH, - CH,NH,
4) CH,-NH-CH,; CH,- CH, - NH,

91, Which one of the following is paramagnetic ?

st # @ dre-ar YuleRits B 7
(1) CH,-CH, | () CH~CH,

R H, - CH
(3) CH~CH, (4) CH,-CH,

92. In the given reaction CH MgBr + D,0 —>(X); (X) will be
& T e CHMgBr + D0 »(X) & (X) #l
(!) CH, (2) CH,OH

(3) CH,Br (4) CH,D

40
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93. Which one of the foliowing will be moat easily nitrated ?

“"ﬁ“t‘“ﬂﬁmmﬁwmmgm}

CH,
0 @

COOH
" ©F

94. In the given reaction

NH, (i) NaNO,/dil.HC?
@

NO,

Wwa
{0 will be ;
a7 s
NH, 0 N:Ng?gdil.lict
@r - -ﬁi}A — @
? X &

cl

0
_OH

(3) @’ R @

41

NO,

e,

el
NO,

NO,
" O

P.T.O.
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95. Which one of the following will exhibit geometrical isomensm ?

ﬁqﬁf&ﬂﬁﬁﬁa’hﬂ-mmﬁ?ﬂﬂﬂwﬁmﬂhm?
HJC\ _~CH,

CH, H
) H”C C\H @ n New,
Cl! H
S ST
\C=C (4) /C C\
®h n ™ CH, cl CH,
96. In the given reaction :
Baeyer reagent
CH—CH=CH, » (X)
25&
(x) will be :
(1) CH,COO0H (2) HCOOH
Q " CH;~CH— CH,OH
3) Cﬁrg"‘CHs ) OH
N 7 AR ¢
AT ARTHS
CH—CH=CH, — (X)
25
# (x} B :
(1) CH,COOH (2) HCOOH
CH;~CH--CH,0H
(3} I (4) Ee
CH—~C—CH,
42
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97. Which of the following is an aldohexose ?

(1) D-glucose (2) D-fructose
(3) Sucrose (4) Starch
Frefafen & @ @-ar SRy z?

{) D-m@ {2) D-F4ag
@) T 4) e

98. Which one of the followihg is R configuration ?

M=l & | aa-ar R & 7

CHO CHO

(1} HC { — OH {2} H |[ OH
H CH,
OH H

(3) H——i—CHO (4] OHC— , OH
CH, cl:H,

99. Pick up the most reactive compound for S,1 reaction :

T A 8,1 A & Rie st Rraster A gt

cl
m Oy (2) CH,=CH-C

CH,CI
3) @’ . (4} CH,-CH, - CI

43 ‘ P.T.O.
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100.1n which of the following organic species all the carbon atoms are in

the same hybrid state ?
Wmmaamwwmma
dEor o X ¥ 7

g L)
(1) CH,=C=CH, (2) CH,-CH-CH,
9
(3) CH,-C = CH (4} CH,=CH-CH,
44
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SECTION - m1
oy - IO

MATHEMATICS
(Marks : 150)

101. For any two sets A and B, the value of (A A~ B) U(A-B}is:

hi#rﬁﬂgwanwa%f%rq, AnBlUA-B) o o5 B .

({) B 2) A

3) AU B 4 AAB

103.Let R be the sat of all real numbers, If a function f:R — R is defined

by ) = 1-|%-3| ¥ x e R then the range of f is :

103.For any natural number 'n', 112 4 1221 ig divisible by :

N NTpReR W ' @ R pqe2 4 127 Ry B -

(1) 123 (2) 131 {3) 133 (4) 137

48 P.T.O.
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Iu_gjs .
104. The value of log,16.l0g.10 is :

lugg _
oz 1610810 B 1 ¥
(1) 2log,3 (2) 3logy,2 (3) 6log,2 (4) 4log,3

108. fx=-5+2 ﬂthenvalue0fx‘+9x*+35x’-x+4is:

qfr x=-5+247 B, a1 x*+0x®+35x*-x+4 W HA X

(1) 150 (2) -150 (3) 160 (4) -160

106. If Z is a complex variable, then radius of the circle

27-2+3)2-12-311Z+9=0is:
X Z O aftrm e d, NFWMZ2Z-(2+3)2-(2-3HZ +9=0H
s ¥

(1) 2 (2) 3 (3) 4 4] S

107.The value of (Hi\ﬁ) Yis:

(I+iﬁ}’ H AR ¥
(1) 201-i3) 2 1+i¥3
@ 16(1-iV3) @  20+is3)

46
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108. The value of tan [1—1‘3;) is :
13
Voo (ﬁ) ol C
1) 2+\3 @ 2-.3 3 V3-2 (4 gﬂ
3 -1

109, .If tn: and Bare two distinct real numbers such that a-f=»2nn, for any
integer n, satisfvi ' ' '
it ge fying the equation a cosg + b sing = ¢, then cos {a+p)

A o T B A He-owT aTeEfrE ey
_ ;Y A
u-B:tzn::,nﬁﬁiﬂlﬁiﬁﬂmﬂtﬂmamse+bsine-cﬂ%:ﬁg

A & A cos (a+p) T AF & -

: af-bf a’+h° a+b) -bY
Wiy @y e () (22)

110. The general solution of an equation catg + cosecp =3 is :

THIBT cotg + cosecy =3 W U= &9 B

(1} 8=@n-D= (2) 8=2nz+
X
(3) 8=2nz-2 (4) none of these
% ¥ Brd Tt

where n is any integer SI€T n ) quits %)

47 P.T.O.
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L 3 ).
111. The value of [ﬂnlﬂa - mw.] is

1 V3 ,
(;inlo" '?-Eslo“] A Y
(1) 1 (2} 2 (3) 3 @ 4

: o o2
112. The shortest distance between the liney-x=1and thecurvex =Yy
is ¢

@ y-x=17AT €6 x =y & d= P g8 ¥
W2 >
‘3 K} W %

113.1f a, b, ¢ are threc consecutive terms ofan AP, and X, ¥, 2 are three
consecutive terms of a G.P., where x »0, then xteyrz*is

1) 32 (2) (3

qﬁﬁﬂhmwﬁmmwmb,dmﬁmm

Ao B AR FHAEE UL x, y, 2 7% K, WBT x#0, AT x>y 20 A
3 |

{1 O 2) 1 (3) -1 (4) 2
114. Solution of 4'* + 4'* = 10 is :

FRFT 4'*+ 41 = 10 BT K :

‘ 1
(1) xnl,-li (2) x-::t% (3) x=x2 (4] x=2__.£

48
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118.1f |a| <1 and Ib] <1,

X=l+a+a’+¥+.,.,,..... 0
y=1l+b+b2+b3+.,........... P
and x+y »1

Thenl+ab+a?b?+a2p? + tervierviaee... o0 18 equal to :
R Jal <1land |b] <1,
X=l+a+aZ+ag3+,,...... T w0

y=1l+b+bi+p3 B SO
a9l x+vy =1 ¥ ar

l+ab+a’b?+a%b+........... veeernon BT RFT &
X+y-| Xy
0 . Xy " l=(x+y)
) Xy @) I-(x+y) ) X+y-1 5 Xy

116. Sum of ‘n’ terms of the series 1+5+13+29 4+, .00 is @

iﬂﬁmﬁ?'u'w&'tmrﬁ’lw1+s+13+29+. ........... v, B

(1) 2=t .3 2) 2*'.3n+4

(3) 2*2-3n-4 (4) 214 3n-4

117, The greatest coefficient in the expansion of (1 + x)I°, js :

(1+x)0° & P ¥ sfewe (Re) 1ors 2
(1) 126 (2) 252 (3) S04 (4) 210

49 P,T.0.
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118, The value of
2'Cq +2: ;cl+ 2 ;C:“+ 2 ;€l++§:'—1—_s%‘- is :
ey BB TG T
N @ =3
o -

119. Coefficient of x® in the expansion of (1 +x)'+ (1 +xp+ (0~ x)*
Foirieennerent(1 + X)P0S

(1 x4 (14024 (102 fa HLF x)* & faEarT A x @
TTih T

; Mg Mg ___Zﬂ "
(1) ¢, -"Cc (2 ne.-r"c, (31 "C G (4) (- U,

120.How many number ¢f arrangement of the letters of the word
"INDEPENDENCE" if all the vowels always accur togather ?

o781 "INDEPENDENCE' & FFam 9rl &1 |aa & g afe a4l
@il (vowels) 1 Th WY @i T4

12!

(1) 16800 (2) 1680 (3) 8! x5! CIYETEY

50
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121. How many 7-digits numbers can be formed using the digits 1,2. 0. 2
4,2,47? o

aa'ai’f1.2,oa424$rmi’r=rﬂﬂ%7eiﬂ%’f% '
PRy Vg oy mﬁ-
ey HE 919 oy

i

) 373 2) 71 (3) 360 (4) 420

122.1n xy-plane, locus of the foot of perpendicular from the origin to the
line which always passes through a fixed point (h, k) is ;

xy-aﬁﬂ,%ﬁﬁaﬁﬁg(mk)ﬁa&qgﬁﬁm%mwgﬁhﬁ
ﬁm@%ﬁw%mﬁ?mﬂgmm%:

1
(1) y=-—x 2) y=(x-h)+K

(3] x+y?-hx-ky=0 (4 X*+y?-2hx-2ky + ] =0

123.The equation of tangents to the ¢
ircle x2+y?-2%-4v.-20 = ;
passes through the point (8, 1), is - d Y - 20 =0, which

gl x=+y=-2x-4y-20=owdﬁr=riwafm$ﬂwmm
Rg 8,1) @ Toreeht & 3 ¥ ™

(1) 3x-4y-20-0,4x-3y-35=0;
(2) 3x-4y-20=0,4x+3y-35=0
(3) 3x+4y-20-0,4x+3y+35-'-0

(4) 3x-4y+20=0,4x+3y+35=0

81 P.T.0.
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whose latus rectum is 3 and eccentricity is

124, The equation of an ellipse
2 ..
3,134
2
maﬂqmmmmwﬁmaﬂmis war Iepa
g, BP0
- L
M 5" @ G
i 41
4 2 2 4x ? nl

2 2

x* ¥y -
125. The eccentricity of the hyperbola -9—--5;--'1 , 18

25

5 Dt
. o L = 4ax whose
i al triangle is inscribed in the parabola y* = ¢ L
lﬁ.ggcﬂ‘?;ltl:ﬁ: at the icmx of the parabola, then Jength of its side 15 :

- % s B
us gaag e, @ y 4ax B IET W THRX T
m@ﬁ%%aﬁﬁﬁ(ﬁ)ww&ﬁwasw

& T 8§
'(5;;"4& f (2) 8a .3 (3) 16a.3 (4) 2e 3
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127.Find the ratio in which the Jj ioi :
and Q (-3, 5, -4) is divided by yz . plane’ " "8 the points P (2, 3, 4)

. I-cos(ax®+bx +
are real 2
numbers. then ll_;lg e , i8

X op,ax?+bx+c=0, H T ¥ wrafE a 20, b, c IRAAF g

. 1-00s (ax® + bx + ).
g o lim T c_mrm%:

2 2
(1) 36B-a @ ;®-a

n!
B S@-o’ (4) none of these

T § o e

d { secx + tanx
is :

n
129. For x ‘*E’ The value of 3
_ X | secx — tanx

n d | secx + tanx
Hzﬁﬁm.m[ ]%T’Iﬁﬁ':

| secx - tanx
-2c0s X 2cos X 1+sinx Y :
O T O ey @ (f2] g (i
53 P.T.0.
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d %
130.1f x = 3 sin t - sin 3t,y-3mst-m3t. then -&ff at l=§ is:

42
a4 x =3 sin t - sin 3t,y = 3 cos t - cos 3t t=-’§- v, d:' A B

' -8 16 -16
(n % 2 5 & 3 “ 7

131. A ladder 5 m long is leaning against a wall. The bottom of the ladder
is pulled along the ground away from the wall, at the rate of 2m/sec.
l-low fast the height on the wall decreasing when the foot of ladder is
4 m away form the wall ?

Sﬁ!asﬁ fag & g R Iﬁrgﬂﬂmﬁﬁl:‘mesec
UL S m" e i ¢ o et
&= | 4tﬁn§§[%?

- -4
(1) -8m/sec (2) ‘?sm,‘scc (3) -S-mjacc (4] -4 m/sec
I log X dx _
132.The value of (1+log X’ dx is :
log x dx
]“mgx}zdxzﬁr a8
X sc — +C
(1) log x+1 (2 [logx+i)’
| i ~]
(3) 1 +log % : (4 l+}ogx+c*

where ¢ is an arbitrary constant
NEF ¢ UH TS AT &)

54
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133.The value of fé [,ftan X + ol x]dx is :

[+ eorsax mr v & -

(1] = (2) 242=x (3) V2=x
134.The value of _[:iélng,_x]dx is :
fiilugix[dx W ORI R
(1) 1-3 @ ;g 22

135.The value of J

’ d
Ll-&smx * ‘TFT%

(1) 2x

—dX ;e .
lsmx 152

1 4

2

(2) = (3)

136, The area bounded by the straight line x = 0, x =

y=2*andy = 2x - x? ig :

15U7114/71i)

(4) 2n

4) -=

2 and the curves

VP y =T y =2 -x* AT @I x=0 T x =2 F T Y gu

AT T HABA E -

3 4 5 +2-‘2!
log,2 3 (2) log.2 3

(1)

(3] 3log 2~

L ds

(4) 5;ug,z-%9

55
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| oy
137.The differential equation of family of curves ;1—4-?— lis:

a®* b
2 2 d d}' :}' £=
(1) x[%’;) ~xy S -y =0 ) -;‘;;] R
2 3 d 2 1 éin
(3) ,{Ev_) *""ﬁ"’%”” ) Eﬂ -xy o4 +y =0

dy eT4e”
1238. Solution of differential equation -==-5""" 18

d}’ 'Eh-f'eh ‘
HTFA TABT ——=— Lol R B
dx e'+e¢*

»

(1) v=%-+= (2) y=e*+c

B) y={e®+ 1) +c 4) y=logle*+e?) +c

dy .
139. The solution of differential equation ax - cos (x+y)+sin(x+y)is:

SAHH TATH %-casmw)uin(un T T Y

1+ %zlsxﬂ:

|
(1) log, [1+tan (x+y)| =x+c (2) 7%

(3) hg,l+mn[%!}nx+c 4) log, |1+ tan (x + y)| = 2% + ¢,

where ¢ is an arbitrary constant

B ¢ TE WraTer T B |
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140, he snlutiun of the di q 1 'l" .
T ]ffcrentjal €quation + X sin y= Xaﬁﬁal}' 18 :
dx ‘oo’ :

£ l
(]] Clany=-— o b x? -
z(x I)e +c (2) e uny=2l(x*-1) e* +¢

(3, E.;lal'l]’=l 2 1 X x?
2(:: +1) e +c (4) ¢ I:anya-—zl-(x’+l)e‘=+c

1 . i
41.IfAisa matrix of order 3 and {A| = 4, then ladj A| is equal to

aﬁamamaﬁﬁﬁwt@hmmaﬁw&)mmdj
A ®

(1) 64 2) 27 (3) 81 (4) 16

142.0f a=i+j+k;b=j-E ang

AR a=i+jek;b=j~k oo skCwh, a.c=3dr c B AT B

(1) Si+2j+2k 2142542
() Fi+3i+3k

32 2« 2.
(3) Fi-=j+=k i =25+ 2k
3 3773 (4) Si-2j+2k

87 P.T.O,

L]
gcollegedunlaa
India’s largest Student Review Platform

o



1807 114/7H)

iti t o3 2k), (3104 4k),
143.1f the four points with position vectors (-614- ) ).( )

| A is;
(5§ +Tj+ 35:) and (_. 13 +17}.i] are coplanar, then value of A is
o R oA Ry e (v ) (61 + 3+ 2K), (31 23+ 45).

}-k = o A ¥
(54T 3K) Tl (13s17)-K) T & T 3% @

(1) a=-2 2) r=2 (3) A=20 4) A=-20

: ,x‘y—kﬂﬂflia.
144. The image of the point (1, 6, 3) in the line 7557773

-1_2-2 3 g (1,6, 3) W At (wom) ¥

148.The equation of the plane passing through the points (2,2,-1); (3.4,2]

and (7, 0, 6) is ¢

Rt (2,2,-1), (3,4,2) T (7,0, 6) 3 PRA AW TRE (A9) W

FHEHTOT 8 -
(1) Sx + 2y + 3z= 17 (2) 5:-2y+3=+17-0

(3) T(5i+25-3K)=17 (4) T5i-2j+3k) =17

L]
gcollegedunlaa
India’s largest Student Review Platform

—



15U/114/7(1)

If three dice are .thrown aimultancously.

then probability of that ali of
them show the distinct faces is :

ﬁ&ﬁﬁﬁ@ﬂﬁ%@ﬁﬁﬁﬂﬂﬁﬁ%ﬁ(%)%
ST BT W mfreor &

4 5
) 3 @ 3 G 3 @ =

1‘?|Ir - — -—
2P X, 6.3 p,=1and 3p x? =39 then standard deviation of x ig -

gy Zp, X, =6,3'p, =1 gy 2Pk =39 @ xwy Quad e %-.:
| (1} 3 {2} 36 3) 9 4 3

148.The soluti i in- i
tion of an equation sin-! x + gip-! Ixe 2 i8

3
T sin"x+sin'*2x'-; P ET B

w2l 3
(1} x 2\/; (2) K'!J::- (3} x=7~l; (4) J':::-J-;—.

149.The value of tan {2 tan"?:-— E’} i8 !

4
a1
tan {3“11';—:}} WA ¥
7
n o = !
) @ 3 @ 17 @ el
39 P.T.0.

L]
gcollegedunlaa
India’s largest Student Review Platform

o



15U/114/711)

b?+c? @b ac
1
ba c'+a b 1is:
150. The value of o b @l b
b +¢2 ab ac
pa c+8' B | g WA 3
- cb al +b?
2 bﬁ c?
2 2) 2a
(1) (2 abd @4 @+rbref

(3) (@+b*+c)larb*o)

78,000
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ROUGE WORK
& wrd

61
P.T.O.
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ROUGH WORK

62
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ROUGH WORK
% W

63 P.T.O.
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